HRT THR GOVERNMENT OF INDIA : : 3raf¥at fasmr DEPARTMENT OF SPACE
INDIAN SPACE RESEARCH ORGANISATION
TSET YeI WS Fow, padrar

NATIONAL REMOTE SENSING CENTRE, HYDERABAD
dserhr Werw 2018 3 faf@a wdiam A

Written Test for Technical Assistant 2018

H$ITY +1 A/Name of the Candidate: IqHATS F/Roll No.
adtet giecer el HETIH
Test Booklet Technical Assistant
9g & 9. .
Post No.
faf¥ / Date St=tadY / January 07, 2018
" | (YRER / Sunday)

AT / Time 1000 Hrs. o7 & to
" | 1200 Hrs. 9= dF

qdiam &Y rafr (A=et )

i 120
Test Duration (Minutes)
geaAt #Y 4.

80
No. of Questions
7eat #1 H. (FaW ofie & 10

3rdrarn) / No. of Pages
(Other than cover sheet)

FIIAT & fav 3fefeRr / Instructions to the Candidates

L. Sea o et Gt & T & 11| FAT weaAt W WY arsufiit @ Aewiwa v smean

/The question paper is in the form of test booklet. All candidates will be assessed
on identical questions.

2. 3 or@e gq weft arsafit & Fe fr ufq & WY e ¥ T MTHAIR IR
qREaHT 3Uaey FU$ AT =dlaTd Faa # ufy F MwAIR e F 3T HEr
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. ﬁa@ﬁwmaﬁamm/mma:m%mm,aﬁﬁﬁumﬁwm,

(&), (1), YT (&) W1 giar| 3aIH § T g 37T Wel g9 / Each objective question is
provided with a text and/or figures wherever applicable with multiple answer
choices (a), (b), (c) and (d). Only one of them is correct.

. MTAIR efie W BU 71w el A o7 & w1 3w sl A Rga s qor

frEs & Faer At 3ruar Fe G dige FoA HE TT B / Read the

instructions on the OMR sheet carefully. Use only Blue or Black Ball Point Pen
for writing on OMR sheet and marking your answers.

Wl aEgfTE ER & weal & WEl 3 A AT T 3 g

Iad 30 F AT FE AFRHAF WP 78 & / All objective type questions carry

equal marks of ONE for a correct answer. There is no negative marking for
Wrong answers.

.wmm%gﬁhum&#wﬁmmﬁmm;

Multiple answers for a question will be regarded as a wrong answer.

. HERTH @ W TG FE 3G TRas # Ru v Rea wua F1 59809 T @ ¢

Far q P Y ofic Iucreyr g S FATwIHY /  Space available in the booklet
could be used for rough work, if required. No separate sheet will be provided.

.mmamtmag?ré’rmmms’r , 3H 9T AU AL &I q4@1g o HII

T A= UL gl F{ UFd § IU7 95 # Fida W g ¢ / Do not waste time

on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

. ofiaT & gy g & N rsufial Ft adam g oisa 1 sgAfa 7€ &

Candidates are not permitted to leave the examination hall during the first hour

10.

of the examination.

o & FATH @ W (1) WY Ruwe ge fAf@a wen F gia R Tum (2)

mmmgmaﬁﬁmﬁaﬁ&wwaﬁmﬁmaﬂsﬁma
& ST / At the end of the test (1) Hall Ticket(s) with photograph pasted on it

and (2) OMR Answer Sheet shall be returned to the invigilator and shall not be
carried by the candidate under any circumstances.
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SET-A
1. Wﬁmtnﬁwﬁwmm# / The brain of any computer system is

A, TTTY ALU B. AR Memory C. #rdrg cpu D. U AT Control Unit

2. Tk AT drmrAeT # fasrel fFw ameas & were #r st £/ In a steam locomotive electric power is
provided through

A. der yomer & Battery system B. SISTel §oTed JTAeT & Diesel engine generator
C.39R AR Overhead wire D. HgEEff AT Small turbo generator.

Use of an autotransformer is economical when its transformation ratio is

A. THEIAT & 9T Near unity B. W#ag?raaﬁm Much greater than unity
(il Wﬁagaw Much lesser than unity D. 77 TS FET None of these

4. aryonfarat & & v 3mH AT T ﬁ?ﬂ?ﬁ% / A common boundary between two systems is called
A.9TEdY Interdiction B. m Interface C. ¥de Surface D. sﬂﬁﬁﬂéﬂﬁ None of these
5. mr;rmuﬁ, e afa gHem B’Eﬂ’ % / In an induction motor, rotor speed is always

A B ITAFA Less than stator speed B. T¢I I ¥ 31®F  More than stator speed
C. T T8 & ST Equal to the stator speed D. 83 '\'ﬁ'?ﬁé el None of these

6. FAWeT W AT F et v 3_!3 TTRT FT FIAE / The capacitor connected permanently in

capacitor run motor

A. T Wﬁ“ﬁ‘t’lﬂ' Improves power factor B. AfFd #R& I A FATE  Lowers power factor
C. 9o AfFd T SRS Multiply power factor
D. 2TTFd IR T T 18T T & Does not affect power factor

£ mmmmﬁmmw%/ Nuclear sizes are expressed in a unit named
A. GHT Fermi B. ﬁﬂffﬁ Angstorm C. =27 Newton D. TFAT Tesla
8. fere & forw Jeredh a1 e 1 g, A et e oS v & ager e R ¥

What will be the penalty factor for a unit, if the generating station is located very close to load centre?

A.R[FT Zero B. ST Ueh & a6 Almost equal to unity C. dhRTcHs Negative D. E@?{UﬁT Very high
9, arfrer Fefiar H, mmﬂﬂm% / In washing machines, most commonly used motors are

A. HITSId ToT S5 Aley Split phase induction motors

B. udf Ner g3 Aed Slip ring induction motors

C. UTRT IR SIFAA Aley Capacitor start induction motors
D. mrﬁmgammm Shaded pole induction motors



10. miﬁﬁrgaésmmmaanymﬁﬁﬁ#muﬁamm%

The starting torque and power factor of shaded pole induction motor

A. 5= @A High, low B. &, 5T Low, high
C. &, FH Low, low D. 3, 3T High, high

11. $eeT-3wer theret # o2 it TG 31T 31 23 oS 1 g ) Rram ) sw AR seA d v
TP rTer R ST & Y AW YAl SrawHT srfaenRa 81 1 vele Trewi A fUHR e #
T ST #

Consider three transformers connected in delta-delta fashion and supplying their rated load. Now if one
of the transformer is removed then each of the remaining two transformer is overloaded. The overload on
each transformer is given as

Al B. 1.232 C 1.732 D. 1.872

12. TRy ATg e WA fFE# waer AT ST 8 / Unipolar modulation is generally used in

A. TH-TH Feaed AC-AC converters  B. TH-EMHT Seacd AC-DC converters
C. vy Feaed DC-AC converters D, BA-EY Fea T DC-DC converters

13. ForaT e TGN ATATEEd: Rhad Iuahr R sar

The constant voltage transformers are most commonly used in

A. a:ﬁ?aimm@ﬁ Personal computers B. 37k afeddl Arc welding
C. FaT f&aToT Power distribution D. ﬁ@:ﬁﬂ@ﬁ Electric cars

14.ﬁgﬂﬁm@m%ﬁmﬁﬁﬁ%ﬁﬁa@ﬁﬁm%mmaﬁm&
&1 T &1 STABTHT & I €1 T ST HIOT gl &

Large transformers, when used for some time, become very hot and are cooled by circulating oil. The
heating of the transtformer is due to

A. 3ol e T I TS FTYHTG  The heating effect of current alone
B. 37 e e ofehdtet & 0T Hysteresis loss alone

C. & T IH Flel T THTG N TGECTTHI e HTeT & 0T
Both the heating effect of current and hysteresis loss

D. &gl ﬁ?ﬂai{qﬁw Intense sunlight at noon

15. st faRYer & AT ¥ fAre ua ateeet-raaet R ey a1el &, oY diecaliex 8.28 V FT A gYaT &
3R THIET 4.14 mA T AT YT 81 W wfAAY 7 H{eF g

When a voltmeter - ammeter method is applied for the measurement of resistance, the voltmeter reads a
value of 8.28 V and the ammeter reading is 4.14 mA. Then the value of the resistance will be

A 2kQ B. 20kQ C. 200 kQ D. 2000 kQ

16. Ty &1 \XaTor fFafere fFar SITar 8 / Shielding of the capacitor is done to

A. P HT HeT fAfTad &Y Make the value of capacitor definite
B. forT off warear & foer 9ol Co H@ﬁ?—f e & [T Balance the bridge without any problem
C. @l (a) 31 (b) Both (a)and (b) D. SAN T HFSAGT  None of these



17. Sec?@ =

A. 1 -cos?0 B. 1 -tan%0 C. 1+tan0 D. 1+ cot*0

18. U FTAET TATH AT AT 197 Y Fefiet 3191 & Faaae Far g

A computer program that converts assembly language to machine language is

A. HHAH Compiler B. gﬂTﬁ'ﬂT Interpreter C. HIBERSH  Assembler D.@?lﬁ-'l’:‘[ Comparator

19. FleT & AFANT & IR FeaaH TRATA ITAsUAT & / Which locomotive has the highest operational
availability

A. SYSTeT & Tolel aTall  Diesel B. f9aTell @ gl arem Electric

C. MY T TSI dTT Steam ‘D. GHT & ITH UHTATA 3UTsTaTe All have same availability

20. FuTe Hefe foraat wieft Xam &1 saer w3 ar Rigai 1 enfrer fram o 8, 3o Rt aeffepar v amn

€ / Flat surface in which two points are joined by using straight line is classified as

A. M8 Line B. ¥ Ray C. gfd=deat a8eT Intersecting line D. AT Plane

21. IfFaw HC Y o Fraer warer gt 1 sitse arer afe & SgT o FhaTd?

What is the maximum load that can be connected in a circuit connecting only lighting points?

A. 5009l watts B. 7504l watts C. 800dTE watts D. 1000 dl€  watts

22. Aees HARIA WiHe F &1 Reufaal & e # 3rav & Fie wiaRor # aRafda fear e
aFHar el Voltage commutation circuit can be converted into a current commutation by interchanging the
positions of

A. 38 3R HAT@ET Diode and capacitor B. 1A 3R THHIAR Capacitor and SCR
C. 5o IR TUIRT Inductor and capacitor D. "R 3R &8 Capacitor and load

23. grateH R Y ¥ I e & fore Bamse e ST awar

Protective relays can be designed to respond to

A. TTAT &Y g, 9faemr  Light intensity, impedance
B. dIYHATA, qfé“mr, LRty Temperature, resistance, reactance
C. dreeoT X FIC  Voltage and current D. IaH  All of these

24. TS A A8 BIec H Hlee Fic » v iPeaFarar g

What is the expression for fault current in line to line fault?

A L=V3*(E,/ Z, +Zy) B. I;=3*(E,/Z +Z»)
C. I;=V3*(E,/ Z, + Z>+ Zy) D. ;=3*(E,/Z) +Z>+Zy)

25. T Baor & e qisd IGEGEGIGE & 7/ Sine rule for a triangle states that

A. a/sin A =Db/sin B=c¢/sin C B. sin A/a=sin B/b=sin C/c
C. a/sin A + b/sin B + ¢/sin C D. 2a/sin A = 2b/sin B = 2¢/sin C



26. AT ITATAT 3 W FleT A1 U =S Heherel F (AT vy §?

Which among the following information is required for a good estimation?

i, 3cUTeT T 3USTSRIaT  Availability of products

ii. 3caTee & @i, AT Taa  Sources of production, vendor selection

iii. 7T 3cATET HX 3oTehT aoradr  New products and their quality

iv. S 3cUTE o ToIT UeTet I 318 HAd 3R B¢  Prices and the discounts provided for each product

A. iandii B. ii, iiiand iv C. i, i, iii and v D. onlyiv

27. m%ﬁﬂ T 39U FAT AT SATAT 87 / Why are the series capacitors used?

A. AT H qU & [T Improve the voltage B. 1Y T &3 Flel o TolT Reduce the fault level
C. Wt 3ad Ruereta & fore F3mas 3R f¥srel saaer i feerdr & gUR & ferT Compensate for line

inductive reactance and improve the stability of the power system.

D. AfFd S & ﬁﬂﬂﬁé? fT Improves the power factor

28. U U TIVT S5 ALY &, 1 R AT g1 WX AT iy gt &

In a single phase induction motor, the motor speed on no load is

A. Teaehtiere a1l 3 IaTeTaT SRIEY - Almost equal to its synchronous speed
B. m?ﬁﬁm Less than its synchronous speed
C. Jedehiarsh Il & SHTET Greater than synchronous speed D. AN WIS A6 None of these

29, el ot 1w rfrsaTer uX aRY & O @1 & a1e FieT & s w1 wearae frar srer age

Which set of rules are to be verified on completion of wiring on any new installation?

A. IE fra® rules, 1950 B. IE f¥@# rules, 1956 C. IE X rules, 1960 D. 38 T ®gAGI  None of these

30. 7R Rarfewr woggl & &) i, QR o T Y, U € o o) 3EY ool GaRT H FIC 8, A awAl vt
T 3T W FAT WIHATAY 9o gl §

If two bodies of different masses, initially at rest, are acted upon by the same force for the same time, then
the both bodies acquire the same

A. JHET  Velocity B. #HCH Momentum C. TaUT Acceleration D. FSAed FAT Kinectic energy
31. ﬁ'&'{'ﬂmé .......... The inverter is ....cccevveee.

A. fife AT NOT gate B. 3R AT OR gate C. Us AT AND gate D. AN T HISAGT  None of the above
32. U 3force & TATATT Fo1aeT FAT &2 / What is a digital-to-analog converter?

A. TE U HifEa B A RS sy o 3R 5§ 39l 79 7 aRafda sard
It takes the digital information from an audio CD and converts it to a usable form.

B. g TECT TATEINIT cTheileh] ST 3TN Tt AT AT Sl &, ST G AR HTATA B & I allows the use
of cheaper analog techniques, which are always simpler.

C. TgEs EIECES RfoTee ST HIUETT AT It stores digital data on a hard drive.

D. 4g "cHal FE DI Hoelaed e H uRafdaatarg It converts direct current to alternating
current.



33. ATSH! TSR] FY FA TTAET TSI IYFHIOT 7ET FHET T &2

Why micro controllers are not called general purpose devices?

A. Fifeh T dUeruH3Tg ez faehr ox 3R & Because they are based on VLSI technology.

B. FIf% d Ueh AT H ol U H1H el & foT AT 8l E  because they are not meant to do a single work
at a time C. FAFTTEIE  because they are cheap

D. i 3 FF afFad &1 3var g & Because they consume low power

34. S PIAFT HT ETATE TIAHIT &/ The emf of the dry cell is about

A 0V B. 0.5V C. 1V D. 1.5V

35. o e iR sAPTA & e we-ga AeeT &/ The cut - in voltage for silicon and germanium are

A 03V,03V B. 03V,07V C. 07V, 07V D. 0.7V,03V

36. waTer aY fFahrsws & Light year is a unit of

A. AT Time B. {ﬂ' Distance C. U1l Light D. warer # drgar Intensity of light
37. alﬁ?raaarraiﬁquwm%? What is maximum value of power factor?

A 05 B. 1 C. 1.5 D. 0.95

38. Yfarie F AHTTEa: wg?an’lz#‘a‘ /" In refrigerators the commonly used motors are

A. HTTST TXOT 3FUT AW Split phase induction motors
B. HUTRF g8FUT AT Capacitor induction motors
C. BTaifehd %ga's?ﬁamm Shaded pole induction motors D.3AR A HFSAE  None of these

39. it off forder =) forvwife w3 & e v wreY vt 3 oYs R o wreer verm e T EraT Y

What is the file extension that is loaded in a micro controller for executing any instruction?

A. .doc B. & C. Xt D. .hex

40. g FzFerer AveT e Rgw-3if=r gfar & ot sud Ref@a e

If induction motor is direct switched-on then it will develop

. 1.5 ?ﬁﬁwﬁﬁgﬁéﬁﬁ 1.5 times their full load torque

- LS |25 TAT SARI qUT AR EAFH 1.5 t0 2.5 times their full load torque
. 2.5 ?ﬁﬁ%@m%ﬁ 2.5 times their full load torque

L 15%5 gmma#rqy‘r HRAFH 1.5 to 5 times their full load torque

o 0O w >

41.21ﬂ'A=(§ i),a’wﬁmadmm’m/ IfA“—"(; i),then|ade|is

A 22 B. 16 C. 10 D. 6



42. PFafaf@a & & Sl o Faer & e wdAvs ggerae vy 7 §2

Which of the following is the best insulation resistance value for a cable?

A. 500 Meg.ohm B. 1 Meg ohm C. 0.1 Meg ohm D. 10 ohm

43. FUTRA 518 ¥ fFa o i adteard / Capacitance of a capacitor not depends on

A. ST RI ANETS 9T Thickness of plates B. Tolel & &Iel g WX Distance between plates
C. TolgH &7 819l U Area of plates D. sAF T T@HT  All the above

44, HETTT ﬂ'@]’c AN HT AAA AR / Temperature of class H insulating materials is

A 120 TBafrdeg C B 135 SMrdeg C C. 155 fSafrdeg C D. Bﬂﬁﬂ-ﬂéﬂﬁ_l‘lm&‘ﬁﬁm_

45, ST9 UF Heetete] @7 a1far 3600 AT F 1800 ITATH F ago AT §, Y 3cUesl TTHUE / AT &

STaar / When speed of an alternator is changed from 3600 rpm to 1800 rpm, the generated emf /
phases will become,

A. HTYT Half B. gl Twice C. IEAT - Four time D. UEFﬂTmé' One fourth

46. TEUT AET F VeI H saﬁﬁarm AR @IaT /  Rotor of stepper motor has no

A. aafEIT Winding B. EFP{EET Commutator C. S Brushes D. A8 & & All of the above.
47. 348 | Fia w1 ATHT gew &I ¥  / Which of the following is not a passive component

A. SR Diode B. THHIIN SCR C. Tifoel Transistor  D. SAT T HT  All of the above
48. fowet et STeveT A & i & Garr wihe W fawtor gt T wwar

Which of the following DC generator cannot build up on open circuit?

A. T Shunt B. ¥ Series C.®IerT Short Shunt D. SFaTC Long Shunt

49. 200 Y 2efY Fvefier 7 0.5 3iEw & v argew wfoRty ¥ AfX qOf X Faw T 20 TR | 3HF IR $wHUE
Y 07T Y ST AT AT & T H F1A FA@AT§?

A 200V DC machine has an armature resistance of 0.5 ohm. If the full load armature current is 20 A.
Calculate Its induced emf when the machine acts as generator?

A 200V B. 210V C. 190V D. 220V

50. 5T Aol WHTATT # 313 81k & a When cells are connected in parallel

A. T HT&TAAT IS ST g Current capacity decreases
B. &I THAT§6 ST g Current capacity increases
C. SUAUR §¢ ATTe  EMF increases D. SUAUH O STTg EMF decreases 30 pf



51. 3 & HR agTaT STaT ¢, S o7 AT FYATA / As the load is increased, the speed of DC shunt motor

A. 3ﬂ?_13'QTFc’I7=I'7 TTIA TG & Increases proportionally B. AR TETE  Remains constant
C. U3 ElB?-ﬁ'?C Increases slightly D. iﬂgTElET-ﬁ%' Decreases slightly

52. RAeTETESe alee & WTe FE & Hed FAT 8/ What is the value of form factor of sinusoidal Voltage
Al B. 1.414 C. 111 D. 1.732

53. afe 39N ager #F Rf¥erar ag relt §, A AT & I/ If sag in an overhead line increases, tension in

the line

A,_ﬁ,ﬁ‘h"%' Ircreases B. A a \:ﬂldnig Decreases
L qﬁaﬁaa‘é’rm’é’ Doesn’t change D. alilalo'-ll El?.!'a'l?-ﬁ% Increases doubly

54. THUGHT 37 A fFAPISFER Mho is the unit of
A. Ww’-ﬂ“ Susceptance B. UsfHeH Admittance C. HYTAEH Capacitance D. $8&¢H Inductance
55. TR URIA® SzFersT Tarer & vl Alex & WY G # 3T grar ¥

The capacitor in a capacitor start induction run ac motor is connected in series with

A. YE B ATEATATSE Starting winding B, GATIER AT8fEeT Running winding
C. TFARET st Squirrel cage D. &Fdeafedr Compensating

56. gfFea Al o et ik R d i wor afa @ g &, 5% FaT
Gl'l?-lT% /" An electric motor in which both the rotor and stator fields rotates with the same speed
is called,

A. ST DC B. &7 Schrage C. R®EE Synchronous D. gfAa®el Universal

57. Wl &1 FY[SIaT R GHAT I AT/ Fusing factor of fuse shall be always

A1 B—1 c—>1

o
[==]

58. vt & arepa, aera & forw gielt AR Y 1 aait Rysnfora &t R smoan

As per regulations, trolley wire for traction shall be divided into sections not exceeding

A, SIS A 1.5 1.5 km in length B. @ieE# 2.0 fF#A 2.0 km in length
C. dEg # 1.61 T 1.61 km in length D. @arg & 1.21 T 1.21 km in length

59. Cos 2A HTHEAE  Value of Cos 2A is

A. Cos® A +Sin’ A B. Sin’A -Cos’ A C. Cos® A -Sin” A D. 2 Sin A Cos A



60. IS AT F7 gFAATT da RRATSIATE STa/  Regenerative braking is used when

A. caid Aler REda aifda & Quick motor reversal is desired

B. o8 H ALFAT [AAYATTE  Load has overhauling characteristics

C. foroe, Qi Tt 3nfe & g s @T—TT %" Controlling elevators, rolling mills etc.
D. 3= TafRra} &1 39aYer 1 f3ar ST @ehar &' Other methods cannot be used

61. aﬁ‘l;rmmﬁa:ga JOTTell & W82 Which statement is true in power system ?

A. ATAT e I AwH arorcdt § 31 efR & Symmetrical fault is more severe than unsymmetrical fault
B. 3rHToIcT arelcll faws arercly & Smer 13T & Unsymmetrical fault is more severe than symmetrical fault

B OIS TR OX 9T fSRET ST EehdT 81 Can be marketed internationally-

C. (a) 3 (b) AT Both (a) and (b) D.3IH H RIS gl  None of the above
62. ﬁ»‘{'@l’fﬁ?ﬁ'mmﬂﬁ[m 2 / Kirchoff’s current law is applicable for

A. ﬁa-a#ﬁa'?:qq"ra:%v Closed loops in a network B. Sl é*('?:!'ﬂ'cﬁ Battery emfs
C. wsﬁﬁzﬁﬁmﬁ % T2l & fIT Junctions in an electric network D. S & T & Tl All the above

63. U FEFed & YA frE 9T s FTa1? / Resistance of a conductor depends on

A. gl HaFed GTalT HI UTARTEFATIRX  Resistivity of conductor material only
B. thael hadel & 879%el UX Area of conductor only
C. ad HsaFel I das T Length of conductor only D.3AN AT All the above

64. FIFH Gelcd hI SRS & Unit of flux density is
A. q8X Weber  B. 9aU/#HIET Weber/m>  C. Fol# Coulomb  D. dsR/HEX Weber /m
65. T AIANIAF AeTag A, A universal motor is the one which,

A. GIIRITAS FT T 3T 8l s available universally

C. e o vy 3mqfel 7 & e 3Mft o) wEtord AT ST HehelT 81
Can be operated either on DC or on AC supply

D. 1S IS AT g TR WReATeh &7 F 3= IIfd A TellaTg  Runs at dangerously high speed on no load

66. SAH T FAT AT & fore arfarelier 3mawar Iu=Hon &1 3ualer fvar ST aFar

Moving Iron instruments can be used for measuring

A. hael SRINEE URIT 3T dlec st Direct currents and Voltages only
B. Shdel ee{aATedT &IRTU 3R alecat Alternating currents and Voltages only
C. a) 3 (b) & Both (a) and (b) D. R A HIS G None of the above



67. {FAI FHaell H, TFATTNE FTATAT § / In underground cables, XLPE means

A. UFEGT dTel 9G¥ UTAAS Extra Large Power Emission
B. taeer folgs orelr é‘lﬁ?sﬂ?-rExtra Linked Poly Ethylene
C. g fofes arelr 2N Cross Linked Poly Ethylene
D. S¥8 @l Uty UfAA Based Large Power Emission

68. 2 St AW FY gaTaT T F AT gafrewa F wlwror FTaw E fF

Disadvantage of Hopkinson’s test for finding efficiency of shunt DC motors is that it

A. qUT olTS rfeFd T HTaRTRATEIAT & Requires full load power

o = P 2
- Blig g e e ST IR e 1T T ST gnores any chanee i iron toss

C. U HreT 3N U A3 @TWWE =l %‘ Needs one motor and one generator
D. &I GATA e 7T Fr aegerar gl & Requires two identical shunt machines

69. W.?ﬂ'ﬂﬂ'waﬁm% HRC fuse means

A. 81§ X5 HUfHE ¥ High Rated Capacity fuse

B. g% Toafar Hufad ¥gsT  High Rupturing Capacity fuse
C. g1$ WS HC WIS High Rated Current fuse

D. BT%' ST T TsT  High Rupturing Current fuse

70. v St wwefier F srer 9v wufder 1 FRor S A Sl AT wEar

Sparking at the brushes in a DC machine due to

A. ad ﬁaﬂmsﬁgﬁ Open coil in the armature

B. ang‘r geqdrel  Defective interpoles

C. 96 SU-FET P &a1d  Incorrect brush-spring pressure
D. SAH A HT  All of the above

71. I T 3 TROT FZFAT AT U T T arel aRFRUTSt & sieeta srard, v g
It single phasing of a3 phase induction motor occurs under running conditions, it

A. EFTierd & Telam Will stall automatically

B. wﬁfaﬁ’fgéwaﬁm?lﬂ [ T&3T Will keep running though with slightly increased
slip

C. 1 g coldll a1 fohY &3 & 3R 9T Terat ol May either stall or keep running

depending on the load carried by it

D. ToId Teld AR FAT R Will become noisy while it still keeps running

94, 14ssmﬁwﬁwsowﬁgm#4ﬁg§§c§|éaaamm’craﬁ‘r%mrtra?ﬁ

An induction motor having 4 poles connected to 50Hz supply at a speed of 1455 rpm. % slip of induction
motor is

A 3 B. 45 C. 3.09 D. 4



73. HSET ATe g arelt e Aiopgr Rer &1 actarer IRTEUTT 125% § Y IdAT THRGHT
3HeTITE 400/5 & ATETH § HTfel widhe W 11 Rswara amar #=2m gon

A over current relay having a current setting of 125% is connected to a supply circuit
through a current transformer of ratio 400/5, The pickup value is

A. 80 B. 100 C. .5 D. 1625

74, fPrafat@a AT #F s a1 A e AT F81 ST 82 Which of the following gate is called as universal
gate?
A. T8 AND B. 3R OR C. ditc NOT D. @8 NAND

75. SEBIAT & WA qe & a § aR@a e sl aradradi g

Of the-following statements-concerning-parallel-operation-of-transformers; the-one
which is not correct is

A. TREWIFY & STeR dlee IEad glar ARy
Transformers must have equal Voltage ratings

B. CRAWIAR &1 IRacTeT &l HHTT U glall =TeT
Transformers must have same ratio of transformation

C. TAHIHT T GAT HIGT G FeTferet foham ST aTfgw
Transformers must be operated at the same frequency

D. THBIHY & I THTH Fdiw IET g1 T1fgw

Transformers must have equal kVA ratings

76. T SARA A 11 .7, gt & dfiwr =gzrawn fifasr A = g arfee

Minimum horizontal clearance to be maintained from a building to 11kV line is

A. 1.0 #IeT mir B. 1.2 #leY mtr C. 0.8 HeX mtr D. 0.5 #HIET mir

77. FE STABTAT & VAHNET F) g1 W Ugd, FT Ghsd HY A1 ke T &1 Tifge e

fOud ga4# @ FATATEY / Before removing the ammeter from a current transformer, its secondary must
be short circuited in order to avoid

A. &R & ’cTTH TSI Excessive heating of the core
B. 3=d ATEAfA® SUATE Higher secondary emf
C. Agaf A gEf Increaseinironloss D ZFATHT All of the above

78. 1000 ST & TareT T BRI 250V A Irqfel & 31 g3 1 400 & & ATCAAS
drecsr & forg, ATeafAw et i wear F41 g aifge

A transformer having 1000 primary turns is connected to a 250V supply. For a
secondary Voltage of 400V,the number of secondary turns should be

A. 1600 B. 250 C. 400 D. 1250

79. T IHeeTAe HT ey thered gorat ¥ sy garr fAuiRe frar sran €,

Power factor of an alternator is determined by its,

A. 1fd Speed B. A Load C. 30T Excitation D. AT WEAES  Prime Mover

80. o131 ¥ PIT AT WTUTHF THR FT AT AL & / Which of the following is not a primary type of cell
A. JFTY Leclanche B. HAT JSTE Lead Acid
C. 3" Daniel D. sﬂﬁﬁﬁéﬁ'@f None of the above



